
270

Ø i.54

Ø
e.

54

Ø i.63

Pipe N°1057
Cod.308798201

Strap in stainless steel Ø63
Cod.300063530

Short helical spring
tensile 
Cod.204387

Short tube in 
silicon rubber 
Cod.204412

Silencer Factory S 
Inox
Cod.308421481

Fascetta Carbon FR3
Cod.308444501

Inox bracket silencer
Cod.308798502

Knurled collar nut M6
Cod.200333

Alluminium spacer
Cod.205771

Alluminium spacer
Cod.205767

Allen screw M6X20 
T.C.Z.B. 
Cod.203508

Grower Ø5 Cod.202286

Allen screw  M5X6 T.C.E.I. INOX
Cod. 201044

Grower Ø5 Cod.202286

Allen screw  M5X6 T.C.E.I. INOX
Cod. 201044

DB-Killer EVO N°52
Cod.308421801

Don't use
Non usare


